

- [4] 2. Find the equation of the tangent line to $y = 3x^2 - 1$ at $x = 2$.

$$f'(x) = 6x$$

At $x=2$ we have the slope $f'(2) = 12$

$$f(2) = 11$$

The equation of the line is $y - 11 = 12(x - 2)$

$$y = 12x - 13$$

- [8] 3. Compute the derivative. Do not simplify your answer.

$$(a) \frac{d}{dx} \left(\tan(x) + \frac{1}{x^2} + e^{2x} + \sin(4) \right)$$

$$= \sec^2 x - \frac{2}{x^3} + 2e^{2x} + 0$$

$$\frac{d}{dx} \left(\frac{1}{x^2} \right) = \frac{d}{dx} (x^{-2}) = -2x^{-3} = \frac{-2}{x^3}$$

$$\frac{d}{dx} (e^{2x}) = e^{2x} (2x)' = 2e^{2x}$$

$$(b) \frac{d}{dt} \left(\frac{\cos(t)}{e^t + 1} \right) = \frac{-\sin(t)(e^t + 1) - \cos(t)e^t}{(e^t + 1)^2}$$

$$\frac{d}{dt} \frac{f(t)}{g(t)} = \frac{f'(t)g(t) - f(t)g'(t)}{g^2(t)}$$

$$(e^t + 1)' = e^t$$